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15Ba |

19 23 | 19 23 |
22 35 12 17 13
2 909 3 17 7 18k
o
JR 3 5 5
50 54
JR 6 5944 16 4844 6 85
8 13
16 10 1
#w
H1810 H233 10 H18 3 H2 3
10% HL 8 50% H2 3
/ 2M00 His 2500 W 3
0 4 HL 6 0 H2 3
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29 6.2 1 158 04
L=1 &0 H19 H23 H19 H23 16 8 1,6 8 16 8 0 16 8
1 L=2 m0 H19 H23 H19 H23 43 43| 43 0 43
15 L= 9nd H19 H23 H19 H23 50 50 50 0 50
1 L=5 0 H19 H23 H19 H23 18 18 18 0 18
1 L=2 0 H19 H23 H19 H23 1 55| 1548 1 55| 0 1 55
L=1 &0 H19 H23 H19 H23 19 19 19 0 19
5 L= 1nv H21 H23 H21 H23 54 54/ 54 0 54
11 L= 2n® H21 H21 H21 H21 2 2 2 0 2
H22 H23 H22 H23 19 19 19 0 19
H23 H23 H23 H23 4 4 4 0 4
1 H22 H22 H22 H22 65 65 65 0 65)
H23 H23 H23 H23 39 39 39 0 39
H23 H23 H23 H23 15 15 15 0 15
H21 H23 H21 H23 40 40 40 0 40
2.8 6.5 28 6.5 28 6.5 0 28 6.9...
L= 2n® H20 H23 H20 H23 15 15 15 15
A=1033 H21 H22 H21 H22 75 75 75 75
H23 H23 H23 H23 2 2 2 2
H21 H23 H21 H23 3 3 3 3
95 95 95 0 95]...
L_(A+B) 29 65
o
3 42 o H19 H20 7 8
JR o H22 H23 45
11 11 L= 2n® o H23 H24 20|
L= 2n® o H23 H24 18
9 B




